Dimensional Analysis Practice

A Honda Civic gets 13 kilometers per liter in city driving.  What is the mileage in miles per gallon? 
(1 mi = 1609 m; 1 gal = 3.784 L)
A 2008 Mustang GT has a 4.60 L engine.  What is this volume in cubic inches? 

(1 cm3 = 1 mL;  1 in = 2.54 cm)

What is the mass in grams of 275 L of seawater if the density is 1.025 g/cm3?

What is the mass of a rectangular solid piece of brass that measures 4.95 cm by 2.45 cm by 1.26 cm and has a density of 8.40 g/cm3?
Dimensional Analysis Practice

A Honda Civic gets 13 kilometers per liter in city driving.  What is the mileage in miles per gallon? 
(1 mi = 1609 m; 1 gal = 3.784 L)

A 2008 Mustang GT has a 4.60 L engine.  What is this volume in cubic inches? 

(1 cm3 = 1 mL;  1 in = 2.54 cm)

What is the mass in grams of 275 L of seawater if the density is 1.025 g/cm3?

What is the mass of a rectangular solid piece of brass that measures 4.95 cm by 2.45 cm by 1.26 cm and has a density of 8.40 g/cm3?
